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(c) Varunayaan 
(a) Samudrayaan (b) DIVE India 

(d) Vikramaditya 

(a) Denmark 

7. In which country was the world's largest offshore 
wind farm inaugurated in August 2024? 

(b) United Kingdom 
(d) Germany 

(d) t. (c) ii1i 

4. 2025 rii 

i ii, fwI inr r  

(b) cii4 

%__1I t3 

6. 2026 i  RT 3ii*i 1  

(a) J4-ii 
(c) 1Z -'i 

(c) c4UI.l H 

In March 2024IASA astronauts Butch Wilmore 
and Sunita Wibms  returned to Earth on board 
SpaceX's spadèaft named: 

(b) Discovery 
o um (d) Challenger 

2. The 2024 Nobel Prize in Physiology or Medicine 
was awarded to Victor Ambros and Gary Ruvkun 
for discovering: 

(a) Ribosomal RNA (b) Micro RNAs  
(c) Transfer RNA (d) Messenger RNA 

3. In the 2024 Paris Olympics, the men's freestyle 
57 kg wrestling event Bronze medal was won by: 
(a) Sarabjot Singh (b) Aman Sebrawat  4 
(c) Akshdeep Singh (d) D.T. Cruz 

4. Which interi4onal sports event was held in the 
United King&,m for the first time in 2025, 
featuring teaij from India and other countries? 

(a) 'asas.i 
b) Cricicet World Cup 

(c) Hockey World Cup 
(d) Badminton World Championship 

5. India's first manned deep ocean mission is 
named: 

6. Which citZrill host the 2026 Commonwealth 
Games? 

(a) Birmigham (b) Melbourne 
(c) Hamilcm \(d) GlasgowJ 

1. rJ2025 kR1T ii.flii 
%11iy*fl 

2.  

3.  

7. 3PWr 2024 '1IT ltIT TE 'n4 i 
 rrhiT1- T? 

(b) ii1iii 
(d) i4-fl 

(b)  

(c) Il1 

(d) f11.11r4 

5 flf P1t iict .1'-I 3R1R fiH T RuT WIT 

t 

* 

(b) lc4'1T 

(d) b1.iI1c 
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8. rHrtr(d i iWt? 8. "Aqua Regia" is a mixture of which of the 
followino? 

Concentrated HC1 and Concentrated 
(b) Concentrated}IQ and CiñiijjEàted 2SO4  
(c) HC1 and HBr 
(d) HC1 and HF 

9. Which of the following is correct? 9 

(a) i metre = 1019 nanometre 

90 
(b) 1 metre = 10 Uanometre 

a 1I-HC13IHNO 

(b) ii- HC1 3 i- HSO 

(c) HC1 k HBr 

(d) HC1 3Th: HF 

rHrr1 i  i 

(a) 14=lO'9 Mk 

(b) 1i4lk=1090 ;i1k: 

(d) None of the above 

10. Which of the following is not a luminous object? 

(b)un 

(c) Electric lamp 
(d) Flame of candle 

11. The type of mirror used in the headlight of a car 
is 

Concave mirror 
(b) Convex mhiöi 
(c) Plane mirror 
(d) Plane convefmjrror 

12. The distance at which the average radius of Earth's 
orbit subtends an angle of 1 arc second, is known 
as: 

(a) 1 astronomical unit 
b) 1 light year 

(c) 1 Parsec 
(d) 1 Fermi 

13. Which of the following pairs (Fat - Oil) is not 
correctly matched? 

(a) Vegetable fats - Phytosterol 
b Animal fats - Cholesterol 

(d) Minera 01 - eoeurn 

10.   Rt? 

(b)  

(c) t1-'i 

(d)  

 t c1Ic. iM'T r lIc  c4ui T Mcblk 

(b) ii 

(c) 11c11  

(d) (11-Mc1 .i-t 4ui 

icUl3fctcJIcfl*:  

(a) 1 kfi  
(b) 1.icbtI 

c-rr1  13. 

(d) 

(a) c(.W4RI T-4)~kM 

(b)  

(d) r—'1kiiii 

11. 

12. 



14. c4'ff V %W1- (1Ict) 

(a) -1k 

(c)  (d) c1l 

201lIUHI3lR, -ir1d

U1iI ltfT *111 *1cc4 

(a)  

(b) iu 

15. 
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14. Which one of the following is a landlocked 
harbour? 
(a) Ennore (b) Visakhapatnam 1 
(c) Mumbai d) Haldia 

15. According to Census 2011, which of the following 
Union Territories has the highest. population 
density? 
(a) Lakshadweep 
(b) Dadra and Nagar Haveli 
c Daman and Diu 

16. Which agro-climatic zone in Uttar Pradesh is most 
vulnerable to climate change impacts, particularly 
in agriculture? 

Bundelkhand Zone 

(b) Central Plain Zone 

(c) Eastern Plain Zone IEIII 

(d) Western Plain Zone 

17. What is the puroose_of'the "PRANA" portal? 
onitoring the ±Nationa1 C 

Programme çNCM)  
b) Water pollution niorntonng 

(c) Plastic waste management 
(d) Industrial emissions control 

18. The 'hydrological cycle' is controlled by: 

(a) Epiphytes \ (b) Forests 

(c) Lichens (d) Grass1ands 

19. Which of the following states of India has the 
highest density of population? 
(a) Bihar b) Puniab  
(c) Madhya Pradesh \(d) ttar Pradesh 4 

20. The name of the scientist who proposed the 
"Ten Percent Rule" of energy is: 

- (b) Odum 
(c) lansley (d) Haeckel 

21. Plants that tolerate a wide range of temperatures 

throughout the year, are called: 

(a) EurYthenna,, (b) Stenothermal 

(c) Microthermal (d) Hekistothermal  

16. • 

1i ii1t *F1  3lf.TEI iflci 

(a) çj1U 

(b) Ift 

(c) jcftiW 

(d) TfPft nft • 

17. "P 
(-c 1t cbI4sbH (NCAP 

(b) uI1Rfl 

(c) dIR-cb 

(d) 'li'ict cth1.1 iiiii 

18. 'ifl Ib' t iIici t: 

(a) 31 

(c) ii.1 (d) 1ir%1r 

19. HdkI 1cI11 HI9I 

- ciiiidit? 

'(a) 

(c) r12tMI 

20. ,'i1i "f SlIiId T 14l1" 

(b) IE 

(c) -ic?I (d) r 

21. dI4HIkct 14I IdR 

lit? 

(b) u1T41 

(d) t1I%T4?T 



22. 

cbI1H14 

I. IH 

II.  

III. tijc'ki-i 

N. HI3k.i4l'*iT 

ktH 41iii: 

L(a II, III, I, 

(b) N, I, II, III 

(c) III, I, II, IV 

(d) I, II, III, IV
cr 

CD 

23 

I. 

. rn 

4411I TTftI 

*  M? 

(a) tIi 

(c) III1.i'1 

(d) riti,r1ii 

24. 'aITnr  , H1iRi 

*1*? 

II. W'FflT1rTI 

(a) tII 

(b) ri 

c) IIJc.iit 

(d) r1tI,rll 

C) 
CO 
r•) 
C 

N.. 
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22. Consider the following events and arrange them in 
correct chronological order: 

I. Cabinet Mission 

II. Cripps Mission 

III. Quit India Movement 

IV. Mountbatten Plan 

Select the correct answer from the codes given 
below.: 

(a) TI,ll1iV 1 
(b) IV, I, II, III 
(c) III, I, II, IV 
(d) I, II, III, IV 

23. Consider the following statements: 

I. The first Muslim President of Indian 
National Congress was Badruddin Tyabji. 

II. The first woman . President of Indian 
National Congress was Sarojini Naidu. 

Which of the statements above is/are correct? 

a) Only II 

b) Ony!  

(c) Both I aid II 

(d) Neither I nor II 

24. With reference to 'Ajivika Sect', which of the 
following statements is/are correct? 

I. Ajivika sect followers mostly lived in forests. 

II. This sect enjoyed great respect during the 
Maurya era. 

Select the correct answer from the codes given 
below: 

(a) Only II 

(b) Only I  
(c) Both I and II  J 
(d) Neither I nor 11 



25. iTqT , "tob iso har" T W- 'Tobacco is 

harmful', "avo har hab" T 'Avoid harmful 

habit' 3Th "pie avo tab" 1 31 * 'Please avoid 

tobacco' I 'habit 1i'. ct1i-ff ictd 14l R1T 

7 4 
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25. In a code language, "tob isohar" means 'Tobacco 
is harmful', "avo har hab" means 'Avoid harmful 
habit', and "pie avo tab" •means 'Please avoid 
tobacco'. Which is the code used for 'habit'? 

(b) har 
(d) tob 

26. A bag contains 5, 2 and 1 coins in the ratio of 
3 : 4 : 5. The total value of all the coins is 

2,100. How piany coins of 5 are there in the 
baa? 
a 

210 
(c) 245 
(d) 250 

27. Find the missing number: 

4 •6 

46 

(b) 55 

(d) 86 (c) 67 

28. In a queue of boys, A is seventh from the left and 
B is fourth frOm The right. When A and B 
interchange their positions, then A becomes 
fifteenth from the left. Find the position of B from 
the riht. 

(b) 17th 
(d) 19th 

29. Find the value of x, if: 

2 * 3 11, 
3*523, 

and x * 6 = 41. 

4 (b) 3 
(d) 6 

30. Intel Core i9 is a tyi,e  of 

(a) Motherboard-i Processor 

(c) Hard disk None of the a ove 

(b) har 
avo (d) tob 

:4: 5311Id 

M'2,100*I 

26. 

(c) 245 
(d) 250 

27. 

4/N 
(b) 55 

(c) 67 (d) 86 

28. 4, si i41 3R '1 A T1T 

fl 5M -111TB I * I A1TB 3ITE 

1111 Ai43 l511t 

 c11I 

(b) 17T 

(d) 19T 

(b) 3 
(d) 6 

30. - i9 Lcb IRT 

(a) 

(c)  

(c) 201T 

29. xIdI 

2 * 3 = 

3 * 5 =23, 

Tkx* 6=411I 

4 



31. A MAC (Media Access Control) address is 
bits long. 

(b) 32 
(d) 128 

32. Which one of the following Chola Kings 
destroyed the Chera navy at Trivandrum and then 
captured the Pandyan King? 

(a) Rajendra I 

(b) Rajadhiraja  

(c Rajarajal 1 
(d) Kulottunga 

33. The famous Battle of Haldighati between Akbar 
and Maharana Pratap was fought in the year.: 
(a) 1579A.D. (b) 1575A.D. 
(c) 1597A.D. I  (d) 1576A.D. 

34. Who among the following assumed the titles of 
"Yamin-ul-Khilafat" and "Nasir-e-amir-ul-
Momineen"? 

(a) Balban 
(b) Nasiruddin Mabmud 
(c) Firoz Shah Tughlaq 

Alauddin 

35. The grand stupa of Amaravati was built by the 

(a) Maurya dynasty 

(b) Satavahana dyn 

(c) Shunga dynasty 

(d) Vakataka Dynasty 

36. Which of the following 
System? 

(a) Linux 

(c) Windows 

is not an Operating 

(b) Unix 

(d) Microsoft Office 

Er * 7 * .UNHSIV-01 

31.    1I 3i)14[  

(b) 32 
(c) 64 (d) 128 

32. -i1iRcci ii1r 'tki uii rifu 4ii 

1i 1  '4111 kI'II 1T iP-1T 

(a) I' -slPT 

i'*u'i 1PT  

(d) ci1jii 

33. flKIUII 4c1I4 12t 1I 

• ITT1T%TF: 

(a) 1579t (b) 1575t 
(c) 1597t 

34. I::iHI1id 1 t 

'- ffl.i" Ri-if W°T? 

(a) Mt*1 

(b) t 1-1H 

(c). rIUc11I1cb 

35. iicid1 c1'1 f 

cbti1iTTtf%1TI 

(a) -1-1 kI'IctI 

(c) 1i 4I'Icpfl 

(d) cilw.cb t'IclI 

36.  1qt? 

(a) r1.1l (b) jct11 

(c) 1ii 

RI 
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Given below are two Statements, one is labelled as 
Assertion (A) and other is labelled as 
Reason (R). 
Assertion (A) . In photosynthesis, the radiation 
energy of sunlight is converted into chemical 
energy and stored in food materials. 
Reason (R) . The final product of photosynthesis 
is glucose sugar, which soon turns into starch. 
Select the correct answer using the codes given 
below: 

(a) Both Assertion (A) and Reai*i (R) are true 
and Reason (R) is the correctixplanation of 
the Assertion (A). 

(b) o sse ion and Reason (R) are true, 
but Reason (R) is not the correct explanation 
of the Assertion (A). 

(c) Assertion (A) is true, but Reason (R) is false. 

(d) Assertion (A) is false, but Reason (R) is true. 

38. Match List-I with List-Il and choose the correct 
answer using the codes given below: 

List-I 
(Natural Source) 

A. Vinegar 

B. Tamarind 

C. Sour milk (curd) 

D. Nettle sting 

Codes: 

(a) A-ui, B-iv, C-i D-i 

(b) -ii, -iii, -iv, ) -i 

(c) A-i, B-ui, C-iv, D-ii 

(d) A-iv, B-i, C-i, D-ii  

37 -n  i 1TLt iF 

3r4i2l1 (A)  k 
1l1buI 1 t (I1I11ch 1 * 11ct4. IA 1T%1 

dilT3IIdI*t 
q,yu (R) .  i tthir c-ii 

'iicfl*I 
-fli I ziiii 1w.1.1 clI: 

(A) ct,KUI (R) 

bIk'l (R), 3 if%1. (A)   o*91i cfkdI 

*1 

(b) chRul (R) T?T , 1R;: 
c4,(UI (R), f%1r (A) ii 

Mc1I * I 

(c) 3t11f%R (A) kic1 *, 'R- cbkul (R) Mci * I 

(d) 3I1R (A) Ic1d *, 'k- cbRUI (R) 1c *1 

38. ft-i fl-iiIii C3*(.fl   11c  

 IL: 

)c1) 

I1kchI 

gil() 

jG1  Tcb 

(b) A-i B-i, C-iv, D-i 

(c) A-i, B-i, C-iv, D-ii 

(d) A-iv, B-i, C-i, D-ii 

ListJI 
(Acid) 

i. Meffijnoic acid
A. 

ii. Lactic acid
B. 

iii. Acetic acid
C. 

iv. Tartaric acid
D. 

39. What is 'Hydroponics'? 

(a) Grafting a plant 
39. 'I Iictk1' ctH*? 

(a) 

 

Gowing a plant without soil 

 

 

(c) Study of vegetables 

(d) Soil conservation 

 

(c) iI'* T 31TM cI*1I 

(d) 1thTU1 
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(Name of Country) 

Malaysia 

Nigeria 

Sri Lanka 

(Plantation Crop) 

(a) Rubber — 

(b) Cocoa — 

(c) Tea — 

40. Consider the following statements with reference 
to world population: 

I. Brazil has the.highest population among the 
South American countries. 

II. Asia continent has the highest growth rate of 
population. 

III. Africa is the most densely populated 
continent of the world. 

Which of the above statements is/are correct? 

(a) Only II 

(c) Both I and II 

(d) Both I and III 

41. Which one of the following separates Tasmania 
from Australia? 

(b) Tasman Sea 

(c) Magellan Strait 

(d) Great Australian Bight 
42. Which one of the following pairs is not correctly 

matched? 

43. Which of the following commodity has the 
greatest share of Indian exports? 

(a) Mineral ores 

(c) Handicrafts 

(d) Agricultural products 

44. The year 2036 will have the same calendar as that 
of: 

40. 4 i1if * 1 1R 

I ii'flci fruft 3ie1 il 
*i9.4I4c1i*I 

II. ITlT 11I1L1 3R111 

kdI * I 

iii. I4dI 41I*I 

c.ifr/ i1 M? 

N 

HcllW1I 

(b) — i{1Iii 

(c) — 

43. 
1clIIcbt? 

(a) 

(c) ctIic- 

(d) ccJIc 

44. 42036cs1 1ii,1t: 

(a) 2007 T (b) 2006 F 

(d) 2009'T 
(b) 2006 

(d) 2009 

iK91I 



(a) 

(c) 

(b) 

(b) 18 
(b) 18 
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45. In the following question, select the related word 
pair from the givaltematives: 

Tuberculosis : L.s: : Typhoid:? 

(b) Kidney 

(c) Lungs (d) Brain 

46. Which one of the following figure is different from 
the rest? 

(b) 

(c) 

47. In the following e, what number will be at the 
place of the missing number 'x' ?  

45. 1ifi*, Ti 

c1Icb : q: :  

(b) 

(c) q* (d) Hi1cI, 

46. 1H11RcI 

47. iIiIsici r , ci wiI 'x' %11R ct,1.i- 

s4I31Wfr? 

(a) 

(a) 16 

(c) 29 

48. In a code langiage, 'MISTAKE' is written as 
'9765412' and 'NAKED' is written as '84123'. 
Then, in the same language, how will 
'iNTIMATE' be written? 

(a) 78579452 j 
(b) 897866145 

(c) 79438163 

(d) 78698365  

(a) 16 

(c) 29 

48. lift ¶Z 11T 'MISTAKE' '9765412' 19T 

'iiciit'3 'NAKED' t '84123 T'1R1i* I 

'iNTIMATE' t ll ITT f9T 's1Itl? 

(b) 897866145 

(c) 79438163 

(d) 78698365 



(c) I, II 3fffl 
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49. Match List-I with List-Il and choose the correct 

answer using the codes given below: 

List-I List-II 

49. 

I1-i 
A. Iqta i. A portion 

A. ctcII i. v.c1T1 
B. Mahrousa ii. Land under state 

administration 
B.  ikiT ii. 

C. Khalisa iii.. Land revenue 
C. 1fr1T lii. 

D. Shiq iv. Protected town 
D. Icb iv. WJ 

Codes: 

(a) A-ui, B-i, C-iv, D-ii (a) A-ui, B-i, C-iv, D-ii 

(c) A-u, B-i, C-iv, D-iii 

(d) A-i, B-u, C-ui, D-iv 

50. Which of the following statements is/are correct in 
the context of the Treaty of Lahore (1846)? 

I. The Maharaja left all his territories beyond 
the river Satluj forever. 

II. The Maharaja left his rights over all the 

forts between the Satluj and Beas rivers in 
favour of the Company. 

III. The English army could no longer pass 

through the Sikh State. 

Select the correct answer from the codes given 
below: 

(b) Only I 

(c) I, II and III 

(d) Only II and III  

(c) A-u, B-i, C-iv, D-iii 

(d) A-i, B-i C-i, D-iv 

C) 
50. c1I tfr (1846) :: * iIiRci * 

I. Rt'II 511 

II.  

1 IkI'II TqRT 3fTTt cj.fl 1TT 
1i I 

iii. ft icft 
. ftI 

(c) rr II k III 



Right to Fren : Articles 23 — 24J 
f elinion 

7  

(a) TPTXV(15) (b) WTXIV(l4) 

(c) TPTXVI(16) (d) TPTXVII(17) 

54.  T(41ctk) ct.i i? 

(a) dflW (b) i'tii 'iNa 

(c) 4k1 14R 

* 12 * .UNHSIV-01 

51. Which of the following is the correct chronology 
of the given events? 

(a) August Offer, Cripps Mission, Shimla 
Conference, Cabinet Mission Plan 

(b) urn a en errce,  asinet ission Plan, 
August Offer, pps Mission 

(c) Shimla Conferhe,  Cripps Mission, August 
Offer, Cabinet ssion Plan 

(d) August Offer, tbinet Mission Plan, Shimla 
Conference, Cripps Mission 

52. According to which Article of the Indian 
Constitution, — "No citizen shall, on grounds only 
of religion, race, caste, sex, descent, place of birth, 
residence or any of them, be ineligible for, or 
discriminated against in respect of, any 
employment or officWder  the State"? 

(a) Article 15 C) (b) Article 16(4) 

(c) Article 16(2) (d) Article 17 

530 In which part of the dian Constitution, have the 
provision&fbr elections been made? 

(a) Part XV (b) Part XIV 
(c) Part XVI (d) Part XVII 

54. Who was the first speaker of the Lok Sabha? 
(a) Ravi Rai (b) Bairam Jakhar 
(c) Mira Kumar r t) G.V. Mavalanl] 

I1dI1 
IIic2 

55. Which of the following pairs is not correctly 
matched? 

(Fundamental Rigjts) (Articles) 

(b) Right to Equalhy Articles 14-18 

(c) Cultural and : Articles 29 — 30 
Educational 
Rights 

(d) Right to Freedom Articles 19-22  

51. PiH11RcI I 'i tii t il 

bIc1I'ibH 

(a) 31111 l'c1l1, 1'4i 1F1, iiHciI 1i-i.1, 

1tk fIjHI 

(b) 1I-i1I 1I-H, 1ik 1i  4i.ii, wrr 

1'KtIc1, 1Dn.i 

(c) 1iiii k11-ki.i, 1EF lH, 3VR1 .11Ic1, 

1k1ZH 4l't.it 

(d) 3PWr iciici, 1ik 1i.i.i 4l'iii, 1ii.iti 

k1c11, fIEf IH 

52. tiir'1 i,—"1*fl 4t 
ll) rI4, i.tii, ii1t, 1i'i,i, 

 nYIIZtr 

(a) - 15 (b) 3i 16(4) 

(d) 3itI 17 

53. Rd1Ti1 

crr i     rd W*? 

(b) ii'T31R : 3i14-18 

(c) cI,1I 31TT1 : 29-30 

(d) *diciiF3lr 19-22 



1225 729 

(b) 639 
(d) 641 

56. wi iiwl%ii  "ri  
Iicii 1( 

(b)w 

(d) Iii 

57. TThT  *iici  itfti f'i  ç 
ltT*325 1ci * I 

15 1i.j 311RT 'iiii c-( * 3Th 
r1lf *, il ti f 35 1  

r 1t? 

(b) SITf: 7:40 
5lTh: 7:45 (d) .lIc1:8:15 

58. iir Ict1 I i.i1iti 2024 T 1bI'11 f4ritr 

(a) Tt 311R t flT 
(b) fi 'ffi  

(c) cblcçfl bHicb 

1 W1I IIc1 1ii I 

17 18 

729 l225T 

(a) 542 (b) 639 

(d) 641 

*i-q P, Q, R, S, TP-TfUj4I( 
I 

S,Til* 
I dk1R  

cbR1, 

-Ttr  rt? 
(a) Q,U,T 

(c) Q,U,P 

59. 

60. 

(d) U,T 

* 13 * 
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56. Introducing Shyam, a lady said, "The father of his 
father-in-law is my father-in-law." How is Shyam 
related to the lady? 

Husband (b) Son 

(d) Father 
57. Ashish leaves his house at 20 minutes to sewn in 

the morning and reaches Kunal's house in 
25 minutes. They finish their breakfast in another 
15 minutes and leave for their office, which takes 
another 35 minutes to reach. At what time do they 
leave Kunal's heuse to reach their office? 

(b) 7:40AM 
(d) 8:15AM 

58. The final of the World Chess Championship 2024, 
was played between: 

(a) Viswanathan Anand and D. Gukesh 
(b) Ding Liren and Vladimir Kramnik 
(c) Magnus Carisen and Vladimir Kramnik 
d) Ding Liren and D. Gukes 

59. Find the missing number: 

17 18 13 14 19 

60. A family consists of six members P, Q, R, S, T and 
U. There are two manied couples. Q is a doctor 
and the father of T. U is the grandfather of R and 
is a contractor. S is the grandmother of T and is a 
housewife. There is one doctor, one contractor, 
one nurse, one housewife and two students in the 
family. Which of the following is defmitely a 
group of male members? 
(a) Q,U,T 
(c) Q,U,P (d) U,T 



61. 
2024 Thii t? 
(a) 39Fft 

(b) SPARC PJfl 

(c) 8 phases 

(b) 6''I 

(c) 8'*VI (d) 94I 

67. 
(PT) 

EII 

61. Which one of the following has received the Major 
Dhyan Chand Khel Ratna Award 2024? 

(a) Annu Rani 

*14* .UNHSIV-01 

62. In 2025, how many individuals 'eie honoured 

with the 'Padma Vibhushan' aw 

(a) 5 (b)4 

63. Padma Bhushan 2025 awardee and 

Engineering, Vinod Dham is known for his role in 

the development of: 
(a) RISC Computing (b) SPARC Systems 

(c) ZiLOG Processors 

64. What initiative did the Indian Government launch 
to encourage climate-friendlY lifestyle choices 

among citizens?  

(c)  

(d)  

62. 19 2025 , 1&t T1T 'i 1i' 

1I-MIic1 TTIT? 

(a) 5 (b)4 (d)6 

63. 42025 1'- 

11'1MI ilciI*? 

(a) RISC Wt°HI 

(c) ZiLOG 5? 

64. RT 1TUI. 391 fl*i ft 

 

(c) Vantika Agrawal 

(d) Sukhjeet Singh 
• E1tI 

t1,c9 

(b) National Mission for Clean Ganga 

(c) Swachh Bharat Abhiyan 

(d) Green India Mission 

65. India's Chandrayaan-3 made a soft landing on the 

moon, making India the country to do 

so. 
(a) Third 

(b) 6 phases 
(d) 9 phases 

67. Which one of the following is an Export 

Processing Zone?
(b) Falta SEZ  (a) Delhi
(d) Bengaluru (c) Kanpur 

68. When was the 'Zero Poverty Campaign' started by 

the Uttar Pradesh Government? 
(a) 2 October, 2024 1(b) 15 August, 2024 

c) ' January, 2024 (d) 26 January, 2025  

(b)  

(c)  

(d) iwr 1rir 

65. Rr i-sii.i-3 -HI ,iii 1ii  ci-O, Flt 

iTTl 

(b) 11IT 

(d) 

66. d'cI, TT1 E11 2024 uji *  cIL 

(a) 

(c) tI1k 

68. tR 5T k1kR IkI 'fl 3Wt' 51TkT 

TT1T? 

(b) Second 
(d) None of the above 

66. The Lok Sabha Elections 2024 were held in how 

man •hases? 

(b) 15 2024 

(d) 26 IIt, 2025 (c) 26 Hc4l, 2024 



(d) Tuticorin — Fishing Harbour 

(b) Visakha . atnam — Natural Harbour 
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69. Match List-I with List-Il and choose the correct 
answer using the codes given below: 

List-I 
• (Name of List-II 

Biosphere (Location (State)) 
• Reserve) 

A. Manas i. Meghalaya 

B. Similipal ii. Kerala 

C. Agasthyamalai iii. Odisha 

D. Nokrek iv. Assam 

Codes: 

(a) A-i, B-u, C-ui, D-iv 

(b) A-iv, B-i C-ui, D-i 

(d) A-u, B-ui, C-iv, D-i 

70. Which of the following pairs (State — Name of the 
Coal field) is not correctly matched? 

(State) (Name of the Coalfield)  

69. fl-Ifl-IIRi -ft 1r 
rwi1Tr 'iifl  

C'
• • 

C' ( J/)qJ1M 3qTJ?I 
(3f2Tff(.fr4)) 

A. i iH"i licii 

B. i41cflL1M ii. &1 

C. iii. 3iu1ii 3+'l'c1H1I 

D. iv. 3ff 

(a) A-i, B-u, C-ui, D-hi 

(b) A-iv, B-i C-i, D-i 

(d) A-u, B-ui, C-iv, D-i 

70. iHriRci ui'I (Rf — T TPT) 

ct1T  rd t? 

(yq) (gITITr1) 

(b) Maharashtra 

(c) Chhattisgarh 

(d) Odisha 

— Wardha Valley 

— Korba 

— Taicher 

(c) flki1 I — 

(d) 3ii — dItclk 

71. Which of the following pairs is not correctly 
matched? 

(a) Chennai — Artificial Harbour  

71. 1H11RcI 4'i i ci-ITti ) ¶I11d t? 

(a) — FtI9TPT 

(b) iiii.i — ic1ci 'dI3TZ1 



2022 — 23 1k ni r IIct1tUI R2f 

tich (1 1)11 %1T? 

(a) 370 b 479 

(c) 350 

'R?1 2023— 24 ci.i-T J'1 II-1 t3'ft 

c'-1lc4 1T? 

6 2 

24 80 

3 

120 I 36 

What is the missing number? 

8 (b) 7 
(d) 10 

2 6 

80 24 

    

3 9 

120 36 

8 (b)7 

(d) 10 

tinII 

(d) 

74.  

(a) 2011 b) 2013 

(c) 2005 - 

75. '1fF1 ii Ii' cbI  

(a) 18 3PW1, 2001 (b) 18 31T11, 2010 

(d) 18r,2010 

(a) T 

(b) iiiiei 
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72. What was the Fiscal!Health Index of Uttar Pradesh 

in the year 2022 — 2 

(a) 370 ' 479 

(c) 350 

73. In 2023 —24, which state was the leading producer 

of food grains in India? 

(a) Madhya Pradesh 
(b) Punjab 

Uttar Pradesh 
(d) MTiätashtra 

74. In which year was thTJttar Pradesh State Organic 
Certification AgencytabliShed? 

(a) 2011 . 2013 

(c) 2005 (d) 2007 

75. When was the 'Kisan Mitra Yojana' started in 

Uttar Pradesh? 
(a) 18 August. 2ff0 (b) 18 August, 2010 

(c) 18 June, 2001 (d) 18 June, 2010 

76. Which cash crop is the major contributor to the 

agriculture economf Uttar Pradesh? 

(a) Cotton (b) Wheat 

(c) Sugarcane (d) Maize 

77. "Operation Kayakalp' scheme launched in Uttar 
Pradeshis related to 

(b) Improving higher education 

(c) Promoting skill-based education 

(d) Expanding university infrastructure 

78. Consider the following figures: 

76.   3&EjQ1T l  rI5t 5TT 

(b) k( 

(d) 'T 

 T "3HH  '1RT 

(a) J 
(b)  IT1T 

(c) ____ 
(d) MI1I T1*1R*1I 

72.  

73.  

77. 

78. 
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(State) 

83. Which one of the following pairs is not correctly 
matched? 

(Mountain 
Pass) 

(a) Nathu La — Sikkim 

Himachal Pradesh (b) Shipki La — 

(d) Sin La — Uttarakhand 

79. Which one of the following Union Territories of 
India had the highest literacy rate in 2011 
Census? 

(a) Chandigarh 
çb) Lakshadweep 
c) Daman and Diu 

(d) Andaman and Nicobar Islands 

80. 'Yela Mala' is the name of which of the 
following? 

(a) Garo Hills  
% (b) Cardamom Hills  

(c) Anaimalai Hills 

(d) Shevaroy Hills 

81. Which one of the following pairs (Tree — Area) is 
not correctly matched? 

(a) Teak — Western part of the Indian Peninsula 
b Sundari — Sundarban Delta 

rt -eastern parts of the Indian 
Peninsula 

82. Which of the following is a local storm of Bengal 
and Assam, useful for tea and rice cultivation? 
(a) Blossom shower 
(b) Mango shower 

\ (c Norwesters 
4 

(d) Karaburan 

(c) Zoji La — Arunachal 'Pradesh 

79. 2011 '*iIuHI IRF -'i1iRci  IIrd 

1c 1IT aft? 

(d) 31l1l.1 3RlIIctG1R 4dH 

80 Ii-.iriRci 'k iii -n' *7  

(a) 1TT14i 

(b) cbI.1l 4.I i1iij 

(c) i-iii'i1iT 

(d) )ciii iiii 

81. riirri ?iI (kT — 5f) v 

(a) 1_'1Rcflly1t1fTrfkflhT 

(b) — .1 

82. HrRd lTQtFfPLrcH,H 11 IM131WF 

(a) i1tii i'ici. 

(b)  

E1LI 

83. rHrrd  -11d*? 

f) 

(a) RTTT 

(b) iNcftTf 

(c)  

(d) ',iIc1-1Ikcfl1 

(d) cbRII.1 



84. 

(a) nf7*ti  

(b) kRti 

(c) cRH'( qi 

85. 

I. 

__________
(b) rr I 

(c) I II (d) 1 It I, 1 t II 

(d) 1957 

(a) 1929 

(c) 1946 

87. f4.nIcbl 
Tftr3In1T 

88. 1R1RcId * ct'k-T kIi'H 

Ii1ctd 1cHt? 

(a) Iicb IIiJII 

(d) -3-9~1kq,  i1l 

*18* .UNHSIV-01 

84. Which of the following is not .a beneficial 

insect? 

(a) Bombyx mon a) 
(b) Apis mellfera 

(c) Laccfer lacca ç) 

Helicoverpa arma 

85. Consider the following statements with reference 
to the 16th Finance Commission: 

I. The Commission was constituted on 31st 

December, 2024. 

II. Shri Arvind Panagariya is its Chairman. 

Which of the above statements is/are correct? 

(a') Onlyll  (b) Only I 

(c) Both I and II (d) Neither I nor II 

86. Which one of the fo119wrg is a correct match? 

(a) Grow More Foo4 - Jawaharlal Nehru 

Campaign 

(b) Etawah Pilot - Albert Myre 

. Project  

86. ¶11dt? 

(a) 33 i'iiät - iti' 

(c) Co-operative 

Movement 

- Mahatma Gandhi  (c) c1kciiiic1i.i 

(d) wi1i1'*ii 

- IcHlTWt 

- 

(d) Sevagram Project - Vinoba Bhave 

87 The Destructive Insect and Pests Act (DIPA) was 
passed in the year 

(a) 1929 

(c) 1946 (d) 1957 

88. Which of the following chemicals is used to hasten 
ripening of fruits? 

(a) Malic hydrazide 

(c) Cycocel 

(d) Indole-3-Butyric acid 



d Swami Dayanand 
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89. Who presided over the first session of All India 
Trade Union Congress at Bombay? 

jIlaLajpatRai 
I 

(b) S.A. Dange 

(c) B. Shiva Rao 

(d) N.M. Joshi 

90. Which among the following was not one of those 
states which were annexed to the British Empire 
by Lord Dalhousié on the pretext of the 'Doctrine 
of Lapse'? 

(a) Nagpur 
(b) Satara 

(c) Jhansi  

tjd) Karnataka 

91. Who was the Governor General and Viceroy of 
India at the time of the formation of the Indian 
National Con!1 ess? 

(b) Lord Ripon 

(c) Lord Lansdowne 
(d) Lord Curzon 

92. Who established the Central Hindu College in 
Banaras, which later emerged as the focal point of 
Banaras Hindu University? 

(a) Bal Gangadhar Tilak 

(b) Madan Mohan Malviya 

93. Where was the first session of the Indian National 
Congress held? 

liombay 
(b) Calcutta 
(c) Poona 

(d) Lahore  

89. 11-I  * a1Ir 1Ikd t1k.1 cI)Tj 

Trft? 
(a) 1 
(b) V •T si 
(c) 1ic4tRt 

(d) iF.iI.?Ifl 

90. r.l..1rrd
%IT, c1l I1'fl KI 'o11Id .fl1' iI11 1i1~i 

 ivT? 

(a)  

(b) 'ticlRI 

(c)  

91. -IRcfl'i tli ii*i 

Jlc14k '*i4c'1 citi'w-i cI.1 

(a)  

(b) iik'ii 

(c) tiii'i 

(d) 1'icb1 

92. '*iR.1 i -i f- 
k1I 31T, 

ft? 

(a) iIciT1iict, 

(b) iicfl'i 

(d) 1Ilftc1H- 

93. i.cIli ib  ctII , cbIk1'.I.1 3TF 

1T? 
_____ 0 

ED' 

EJD 
Iirc2 



94. rHrrd   t IT'T 'rr 1.lfdtcI 

b1lc1t? 

96. — W 

A)  ctRUl (R) cbJ TIZIT  I 

3ji27 (A) . 1I4*fld T c4*fl 

1cbItI 

quj (R)  i1ufl*I 

C' 

(a) fTT (A) cii4.'Ji (R) i4 t, '+-cj 

(R), 3ThTr (A) 't i1 

cb.c1I t I 

(b) 1TT (A) 3Th ct)I4.ul (R) c * 3 

cbl4.UI (R), TTT (A) k1l °l(9.4I *&cll 

*1 

(c)  

(d) (A)Md*,ttcbKut (R)ic.i*I 

97. 'R-ff' 11.I 

 

lUIcbRUI lii*i 

(b) Tt 11R 

(d) ikk1  

98, t1iRc4d • q.i- . 1'1flc1 1kitH *? 

(a) i1iB3D 

(b) I1HAB 

(d) ,1ii.iCD 
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94. Which of the following part of brain is known as 
'little brain'? 

(b) Cerebrum 

(d) Medula 

95. Blood is a type of  

(a) Muscular tissue 

(b) Epithelial tissue 

(c) Nervous tissue It1 
(d) Connective tissue 

96. Given below are two Statements, one is labelled as 
Assertion (A) and other is labelled as 
Reason (R). 
Assertion (A) Amphibians can tolerate mixing of 
oxygenated and deoxygenated blood. 
Reason (R) . Amphibians are animals with two 
chambered heart. 
Select the correct answer using the codes given 
below: 

(a) Both Assertion (A) and Reason (R) are true, 
but Reason (R) is not the correct explanation 
of the Assertion (A). 

(b) Both Assertion (A) and Reason (R) are true 
and Reason (R) is the correct explanatioir of 
the Assertion (A). 
Assertion (A) is true, but Reason (R) is false. 

(d) Assertion (A) is false, but Reason (R) is true. 

97, 'Knock-Knee' Syndrome results due to the 
pollution of  

(a) Fluoridesi (b) Heavy metals 
(c) Nitrates (d) Phosphates 

98. Which of the following are water-soluble 
vitamins? 

(a) Vitamins B and D 

(b) Vitamins A and B 

Vitamins B and C  

(d) Vitamins C and D 

(c) Pons 



C' 

(a) A-i, B-i, C-u, D-iv 

(b) A-i B-i, C-iv, D-i 

(c) A-ui, B-i, C-i D-iv 

100. Which fruit ranks first in India in terms of 
production? 
(a) Mango (b) Banana 

(c) Guava (d) Papaya 

101. Which of the following belongs to cash crops? 

I. Potato 

II. Rice 

III. Sugarcane 

IV. 'Cotton 

V. Rapeseed 

Select the correct answer from the codes given 

below: 

(a) I, II and III 

(b) LIIandTV  
(c) I, III and IV 
(d) 111, IV and V 

102. 'Kisan Call Centre' was started by  

(a) ICAR 

(b) Ministry of Agriculture an. 
Welfare, Government of India 

(c) State Agricultural University 

(d) NABARD 

(d) A-iv, B-i C-i, D-i 

100. 3cIK'1 -- • 

(a) 
(d) -t'1kii 

101.  

b) 1i cb1IuI M, 

(c) (I'1 11c1JM1 

(d) .iiii 

SRi 

(a) A-i, B-i, C-i D-iv 

(b) A-i B-i, C-iv, D-i 

(c) A-ui B-i C-u D-iv 

.UNHSIV-01 

99. Match List-I with List-Il and choose the correct 
answer using the codes given below: 

99. qvfl-Ifl-II11d 

FI) fli,: 

 

 

List-I 
(Crops) 

A. Paddy 

B. Wheat 

C. Sugarcane 

D. Pigeon Pea 

Codes: 

List-Il 
(Diseases) 

i. Wilt disease 

ii. Black Rust 

iii. Red Rot 

iv. Brown leaf spot 
D. 31W iv. 



B.  

C.  

D. 11lcVI IiccI 
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103. Deficiency of which of the following elements 
causes yellowing and poor growth of the plants? 

(a) Phosphorus 

(c) Calcium c:: 

(d) Boron 
C:) 104. Which one of be followmg pairs (Folk dance — 

Place of Origiri)'is not correctly matched? 

(a) Kaikottikal— Kerala 

(b) Himachali — Kullu Valley 

(c) Koli — Maharashtra 

(d) Yakshagana — Rajasthan 

105. Match List-I with List-Il and choose the correct 
answer using the codes given below: 

List-Il 
(Content) 

Regional histories of 

Buddhism 

ii. Buddha's teachings 

iii. Rules for those joining 
the Buddhist monastic 

order 

List-I 
(Buddhist teij 

A. Vinaya Pital i. 

B. Sutta Pitaka 

C. Abhidhamma 
Pitaka 

D. Mahavamsa iv. Philosophical matters 
Pitaka 

Codes: 

A-iv, B-ui, C-i, D-ii 
A-i, B-iv, C-i, D-ii 
A-i, B-iv, C-i D-i EI lI 

(d) A-i, B-iiXv,D-i 

106. Which of the fwing is not a Rabi pulse crop? 

(a) Chickpea._ 

(b) Lentil 

(d) French bean 

103. 
itrii.i 1iic(l*? 

(a) 4kk1 

(c)  

(d) 1kH 

104. irr * .i-1T (ñi  — svi1i t 

-fl1)k1 

(a) —  

(b) ffl—'i1 

(c)  

105. -I-IIrc1d tT1t 

T i41i *il 'i 

+ii-II 
(/r4q 

A. 1 1ci i. 14t 

1i*i 

ii. iiii' 

. iiri 

iv. IPcbHIl1c 

C' 

(a) A-iv, B-ui, C-i, D-ii 

(b) A-ui, B-iv, C-i, D-ii 

(c) A-ui, B-iv, C-i D-i 

106. rHr1 Fr 

(a).RT 

(b) W 

(d) 

(d) — 



109. How much were India's foreign exchange reserves 
at the end of December 2024? 

(a) USD 629 Billion 

(b) USD 578 Bilion 

) USD 64O3 

(. USD 65397 Billion 

110. Which among the following is the largest Stupa in 
the world? 

(a) Dhamek Stupa 

(b) SanchiStusa 
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107. Which State Government has started the scheme 
'Nivesh Mitra'? 

(a) Tamil Nadu 

(b) Madh a Pradesh 

(d) Maharashtra 

108. What is the name of the third volume of 
Akbarnama written by Abul Fazi? 

(a) Sulh-i-Kul 

(c) Manzil-Abadi 

(d) Sipah-Abadi 

111. Before his death in 1539 A.D., whom did Baba 
Guru Nanak choose as his successor? 

(a) Guru Namdev 

(b) Guru Tegh Bahadur 

(c) Guru an 

112. Which state has the largest economy in India? 

(a) Gujarat 

(b) Tamil Nadu 
(c) Uttar Pradesh 

(d) Maharashtra 1  

107. '1i i' 41'*ii 1i ii  iu t 

108. flic1 ii q,q.fl4fl frE1t r  i 

lT RTt t? 

(a) -1-i 

(b)   

(c) -3iiii 

(d) Th'r-3iw1 

109. I1l-G1k 2024 k* Rt1 1fl r IbcIiI 

Tr? 

(a) 629 1IkiH I11kc1 .i1k 

(b) 578 4L11'1  

)6403 I4IFH ii41.cH sii( 

(d) 65397 

110. rH11rd 1iii ei 9 cI1-Wt? 

(a)  

(b) k1Nl'Tt 

(d) '9r q:1 1! 1 

111. 1539. 

(a) 1I11c4 

(b)  

(c) T 

(d) TJ3j1T 

112. W1  

(a) 1kict 

(b) cI1c11I 

(c) 3ii 



116 Which of the followmg crthc used the term 
"Quasi-Federal" for the Indian system of 

government? 

(a) Jawaharlal Nehru 
Lash 

d) B.R. Ambedkar 

117. Estimation of National Income in India is done by 

the: 
(a) National Income Committee 

•ssion 

National Statistical Office 

(d) Reserve Bank of India 

118. Which among the following is not a part of the 

Governing Council of NITI Aayog? 

(a) Chief Ministers of Delhi and Puducherry 

(b) All Chief Ministers of States 

(c) Lieutenant Governor of Andaman and 

Nicobar Islands 

118. 1IH11Rd -fl1 iiic1 t  

(a)  

(b) 9117fl
____ 

(c) 1frj 3Th fcGI4 1lj i 1kk ici-k 

.UNHSIV-01 *24* 

113. Who among the following was the first Indian to 
be awarded the 'Bharat Ratna'? 

(a) C. Rajagopalachari 

(b) Pranab Mukherjee 

(c) Abdul Ghaffar Khan 

(d) Nelson Mandela 

114. Among the following, which:one is the statutory 

body? 

(a) NITI Aayog 

1(b) Finance Commission 

(c) Planning Commission 

(d) Labour Commission 

115. Distribution of Taxes between Centre and States 
in India is done by the: 

annin Co i ssion 
Finance Commission 

(c National Development Council 

(d) Parliament 

113.   ciTT1 

(c) 

L1l 

Ul4 *i icl cbI4Ic1I 

• ij 



(b) 5th August, 
(c) 16th August, 1905 
(d) 16th October, 1905 
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119. In which session of the Congress was the "Puma 
Swara" resolution • assed? 

(b) Calcutta session 
(c) Lucknow session 
(d) Madras session 

120. On defeating which politician, did Subhas 
Chandra Bose become the President of the Indian 
National Congress? 

(a) Sardar Pate! 
(b) Jawaharlal Nehru 

Pattabhi Sitaramayya
E1II 

(d) C. Rajagopalachan IEIKs'2 

119 ctii   T1IF1it "'jI *c1kI1' T i*ciici 

T1%Tt? 

(a)   

(b) ccb ff 

(c) ci'in 

(d) HIk11fTFt 

120. i- ii 1t'ti i'icii t .RiIici cbb Rcfl1 

kI1'q cT1Tit? 

(a) ikciktrr 

(b)  

(d) ft. itniiiii4l 

121. Match List-I with List-IT and choose the correct 
answer using the codes given below:  

121. fl Lll{ 

i'il Pit: 

List-I 

A. Jat Rebellion 

B. Bundela Rebellion 

C. Satnami Rebellion 

D. Sikh Rebellion 

Codes: 

List-lI 

i. 1554A.D. 

ii. 1672A.D. 

iii. 1669 A.D. 

iv. 1675 A.D. 

I1-II 

i. 1554*.. 

ii. 1672*.. 

iii. 1669*.. 

iv. 1675t 

(a) A-i B-iv, C-i, D-iii 
(b) A-ui, B-i, CiiDivJ 
(c) A-iv, B-i, C-i D-i 
(d) A-i, B-i C-iv, D-iii 

122, When did the Anti-Partition Movement begin with 
a massive demonstration at the Town Hall, 
Calcutta? 

123. Which of the following countries did not 
recognize the Azad Hind Government? 

(d) Philippines 
____ (b) Germany 

C' 

(a) A-i B-iv C-i, D-iii 

A-ui. B-it  C-i D-iv 

(c) A-iv, B-i, C-i D-i 

(d) A-i, B-i C-iv, D-iii 

122. k,c14'1l '1 ici T Ii'iici i1.i '1 T-T 

i31Kki-i 1tT31T? 

(a) 7311t,1905 

(b) 53Tlr,1905't 

(c) 16PT?r,1905t 

(d) 1631ctçlk, 1905 ft 

123. 11'11d 3ThIT 1- 14bR 

(b) 'i4-fl 

(c) ZfI (d) 11i'-1ii 

a,Tndonesia  41 
(c) Italy 

rr 



Codes: 

(a) A-u, B-i, C-i, D-iv 

(b) A-i B-ui, C-i, b-iv 

(c) A-i, B-iv, C-u, D-i 
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124. Which of the following pairs is not correctly 

matched? 

(a) Permanent Settlement — Bengal 

t (b Talugdari Systei- Bombay (Mumbai)J  

(c) Mahaiwari Systeim— North-West Provinces 

(d) Ryotwari System Madras 

125. Match List-I with List-LI and choose the correct 
answer using the codes given below: 

List-I List-Il 

A. Kushanas i. Devaputra 

B. Pulakeshin II ii. Sakalottarapathanatha 

C. Harshavardhana ijL,, DakshinapatheshWara 

D. Samudragupta ir. Kaviraj  

124. H  *itl j11d t? 

(a) i41 kk'K1 — IM 

L') dIcbcI — () 

(c) jU _T114.I 1.fl 1id 

(d) lc1c4l4tWIIc4t —iii 

fl-Ifl-III1d 

I1-ii 

A. IluI i. 51 

B. i1ii fIfli ii. 1%IRT%T 

C. ET%T iii. fflTR 

D. ws1 iv. °tI4J'I 

125. 

C' 

(a) A-i B-i, C-ui, D-iv 

(b) A-u, B-ui, C-i, D-iv 

(c) A-ui, B-iv, C-i D-i 

126. For which of the following rulers, is it said in the 
'Udaipur Prashasti' that "He achieved, 
accomplished and made possible everything that 
could not have been done by anyone else"? 

(a) Vakpati Munja 

(c) Mihira Bhoja 

(d) Sinclhuraj 

127. Which of the following kings stated that "All our 
people should create the good deeds, free from all 
disasters, enjoy the joy with minds unpolluted 
with jealousy"? 

(a) Chandragupta Maurya 

(b) Ashoka 

c) Harshavardhan 
(d) Samudragupta  

126. riRlci I;;b1 lR1b IIL 'K 1i' 

tI i1T T1  

1ii k flRT Ift ai.i 4TEt .ii t 1cbI 

(a) ii1jr 

IiiIi 

127. iiiIi *   .iit 1 -FF i " itt iiO 

w4?'r*i 1ctd, 

(a) iici414 

(b) 31 .  
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Select the correct answer from the codes given 
below: 

III IV II, I (b) I, II, III, IV 
(d) IV, I, II, III 

131. Which of the following river originates from 
Mansarovar in Tibet and passes through 
Shipki La mountain pass? 

(a) Beas 

(c) Ravi (d) Chena 

(c) Tamil Nadu 

132. Which one of the following states was most 
urbanised as per Census 2011? 

(b) Maharashtra 

(d) Gujarat 

128. Which one of the following states recorded the 
maximum decadal growth of urban population 
duringtheperiod2001-2011? 

(a) Nagaland 
(c) Kerala 

129. Which of the following is an ocean current of the 
Atlantic Ocean? 
(a) California current (b) Benguela current 

(c) Alaska current (d) Humboldt current 

130. Arrange the following states in ascending order on 
the basis of percentage of Tribal population as per 
Census 2011: 

I. Madhya Pradesh 

II. Maharashtra 

III. Rajasthan 

IV. Meghalaya 

133. The Brahma temple of Pushkar is in which of the 
following states? 

(a) Uttar Pradesh 
(b) Himachal Pradesh 
(c) Gujarat 

128. ci*fbi i'12001-2011 f-T 

d1.H *iii ic1i   t? 

(a) iiiu 

(c) ki 

129. 1ii-.i1i1i :1TU iI1.ct 11I1Ik 

(a) i114i .iRr %(b) iitii im  

(c) 3ii icti 1TU (d)	  11U 

130. 2011 t.*i1luHl 

*iiid it i 

I. T 

II.  

III.  

IV.  

FW4-I c1i: 

(b) I, II, III, IV 

(d) IV, I, II, III 

131. P.irri 

jR1 tE•( 1i'i4l IT '1I. • i çfl t? 

(a) 

(c) 4.Ic11 (d) 

132. 2011 *1IHl 

kI'1  3ILci 

(c) 

133. tri ii ii1 e?f3c1R!Ki 
C) 

(a) 14.3TT 

(b) 1ii1ciT 

(c) RId 

lH111d .i-T 

1T? 

(b5  

(d) *uct 

1L1 

(d) Maharashtra 
çN(d) 1RI 

(a) III, IV, II, I 



dI1Hl 

138. -ckt 

(b) 1'T'*M 

(d) cb.1kcl 

(b)  

(c)  

(d) tig1 
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134. The phenomenon of "urban heat islands" refers 
to: 

(a') Increased tree cover 
(b) Decreased temperature in urban areas 

(c) Higher temperature in urban areas than 

earb rur 

(d) Decreased energy • sumption 

135. In which city is tl*)'National Institute of 
Agricultural Economi and Policy Research' 
located? 

(b) Mumbai 

(c) Hy' eraba' (d) Lucknow 

136. Which website has been prepared to monitor the 
fmancial activities of the State of Uttar Pradesh? 

(a) Srishti Koshvani 

(c) NIC (d) Arthashastra 

137. Which of the following4ates of India has higher 
number of females than)iiles? 

a Tamil Nadu X) West Bengal 
) Kamataka 

138. Biofertilizers  are 

Cultures of micro-organisms  I 
(b) Organic manures 

(c) Green manures 

(d) None of the above 

139. Who is the author of the book "The Population 

Bomb"? 
(a) Paul R. Ehrlich  1 (b) Donald Bogue 

(c) T ompson (d) Malthus 

140. When was the first Mineral Policy announced in 
the State of Uttar Pradesh? 

(a) On December 29, ' 6 

b) On December 29, 

(c) On December 29, t97 

(d) On December 29, ,99  

134. '1"l4I "41kk1l 1it1tt? 

(a) 5 3Iic1VJI 3T11IT 

(b) 1t*dNHHChfl 

(c) 3I1i-11T flu ' fi 

dI'tHH  

(d)  

135. 'kIk 1i 3-H51 3Th -fl1 3I11 iii' 1i 

17a' R*1L (b)  
IL!i 

(c) &i1I (d) 11sHj, 

136. 1k kI'1 c ' IiL& 

1lk'Tt?  

(a) &f \(b) c1Ic4Iufl 

(c) 3TftNIC) (d) 311t 

137.  ii3ti 

139. it? 

(a) 131R. 10') l- i  

(d) 'TW (c) lI4-41'1 

140.  

aft? 

(a) 29 I14-G1k, 1996 Ft 

29" ,1998 

c) 29 11l-cIk, 1997 

(d) 29i,l999 

I 
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141. i4-fl rt: 
(a) dc1'Ri-d (b) 3T1EI9Tt 

(d) 

142. ff13i*: 

(a) 

(c) iI'tb 

143.  

I 

(b) cic  

(c) ITITTh 

(d) TcPH .ftTjl'U I 

144.  

(a)  

(b)  

(c) fiil ci %IT? 

(d)  

148.  I li-it: 

(a) FE1F (b) fii 

3I 

150. H1T-: 

(a) m1—i (b) riT—Rr, 

(c) 3-1TP (d) r-1r 

151. -n 
Ttj  31(I: 

9 

(b) A-i, B-i C-iv, D-iii 

(c) A-i, B-iv, C-i, D-ii 

(d) A-iv, B-i, C-i D-i 

(d) 
jj cU 

iii. 3ic*iH 

(c) A-i B-iv, D-iii 

(d) A-iv, B-i 
¶T' 

D-i  
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152. 'c9 c11 i I1!4k.3Ti' W1 '°b9' 1ll4UI 

(a) lcI141I 

(b)  

J1U1c11t1c( 

153. 

(b) rI1 

(c) 31HIc1l 

(d) 14TUJ - 

154. j1 I11R1 UIclj'cb 

(b) iicfl.i 

(c) iIcid 

(d) fRT 

155. 1iftcici fWh 41  1'1c4i'fl i 

(a) c'-i1, 9)ct, ki{lc1 

(b)  

(c)  

I
1

(d)  

156. rR1 '3If1f' 1iiifl ?*: 

(a) c1iH b 11 

(c) cii.. 

157. 'c4,'ç:fl 'T' *: 

(a) 14'lui 

b 

(c) 1iI 

(d)  

158. rd TI 'T'1c1ltft 

(a) -1ii 

(c) 

159. 31ff?1 '' 11qc4Ifl *: 

(a) 3 

(b) 1iii 

(c) * 

160. 4 'i' T1i1ciicfl W*: 

(a)T 

1(b) 14TI 

(c) Iku1I$ 

(d) 1IJ 

161. 3IrIF '1' icutfi *: 

(a) -iic1k 

(c) W14 

(d) rt 

162. r1r 1bi 1ici i1c1Ic11 

(a) fk, , 1i'uci 

(b) f1T, ii,  3I5r 

(c) +ci, i4ku,  

\(d)  

163. iiikcci ' 'cti11c1' 

(c)  

(d) r1 

164. 1iRcci   i i1ift*: 



(c)  

(d) 1EI 

166. IIH11rd i-1cit? 

174.  Ci1r1L: 

(a) tilIq 
IEl1 
EI (d) ai1i 

(b) 11c41, 

(c) '1kctcI, icd-fl, ii1, -I1c4.fl 
(d) ftI1,3T,ifl'ilk  
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165. ' 3 TI' 1l'l!4uI ict: 

167. 1 ITw.H cR)1i: 

a3T  

(b)   

(c) 1ii-s 

(d) iikii 

168. 

(a) IIIcbI—ff 

(b) iii-*i& 

\(c) i—ft 
(d) 4cbI_t 

169. c1w1-th t  cI11Tt i1 m?*?  

(b) Ic1IcII_fl* 

(c) —k 

(d) 3—Z  

171.  

to 

(b) —c1cbI 

(c) 11cic1 —1wr 
(d) FtcI  1T—f1k1TU 

172. ' I4ir irrri  

(b)  

(c) I-Mi 

(d) s1M 1iiiii 

173. '1i  1ft Ri 311Tt r ' c1Ict1iI 

175. ii'i t1H 

c(J1I liit 

170. 

tk-tti*?  
176. 

3It? 

(a) 1IIcc1,t,S1ILIT 

(b) 4jOi,i.11Icl 
(c) Ic1t, IIHIdI, cd 

1liui  

(b) - 

(c) 4IcII,icb 4UI 

(d)  



EIL!1 
iiJic 

186. 'ii' 1-i1'iRci pci.'i 
lr 1T *? 
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177. ti• cf.j mi1t? 

(a) 4't—cbl( 

(b) i—'-.i1i 

(c) T—T 

\(d) d1-3c1 

178. IHd [ITH nr: 

(a)  

(b)  

E1 

179. ' lid 

(b) .ii•.ii ci'i1iui 

(c) iciii,fIriui 

(d)  

180. fl-I fl-il 1Irdd .fl') 1L,TrL 
T iii 'lftl 'l4 

cI_I ft-ii 
(1) (rqur. 

A. cflq i. 1iuui 

B. Iicii ii. 11Cbrd 

C. ITT jjj. 1iciifl 

D.i1m iv.1i1°q 

C' 

(a) A-i, B-i C-i, D-iv 

(b) A-ui, B-i, C-iv, D-ii 

182, ' Tffcb4 , .ibft1Tcb4 cç4) ir1r' ciIctlI 

kiQt: 

(b) il1T 

TTfT 

(d) coi1dlI 

183. 'ictiii rdV.1 q,ç 

-1T11c4 3 *? 

(a) T1t_ijikl.i 

(b) t 

\(c —T  
(d) IIci fl1i — 

184. ' 3 T1 f T, cjç 

L,4*HH c1i*', 1iliII Ylctd Io*: 

(a) iflrc 

(b) ii11 

(d) iI-c1I1 

185. 'ifl3'. 

(b)  

(c) i1ft'cii cbI41Rflt I 
(d)  

187. '4Ict1II rdM d1 I' t41-lTP1T 

(a)  cidI—I 

- 

(c)  

(d) —3id1j 

181. rrd lii*: 

(a) -1lc1 



(c)  

(d)  

193. 'sIT iTTt'  

(a) M (b) fE 

(d) 11F 

194. .n;i Tftcj dc( 

(a)  

(b) 31lIIR1 
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195 ' 1Il4l' *: 

(a)  

(b) 3;t*flTft  

1(c) 1wII1-tl 

(d) 

196 's1iJ' l '1Ij' IM1H iFI1 

(a)  

(b)  

(d) 1T1, 3T11Ef 

197.  

(a) Rci — 31lcii4 

(b)  

(d) i--W 

198. rrd, i il.ii.ii ' 3I r ?*1t 

(a)   

(b) 1—'%T 

(c) 11T—T 

(d) *UF—TI 

199. i1iRcci 

(a)  

(c) 3-IRT 

(d) -'M 

200. 1Jc   1lH1ikci if i) 1-'t*: 

(a) i—fi 

(b)  

(d) cb,_fTT 

(b) trcH 

(c) I1T 
e (d) cbH 

189. T1cb 'dciH' t? 

(c) ii 

(d) -i 

191. c1cH-cI t cI11T fit il *? 

188. 1rt 'q' i 1i1  c11: 

(c)  

(d) —i-i9dl 

192. iIikci ct.i1T 'ci' T 1c11-I 

(b)  

(c)  

(d) ii 

190. '' T cic 
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